CITY OF RIVIERA BEACH



RIVIERA BEACH, FLORIDA 33419 FAX (561) 842-5105

PROCUREMENT DEPARTMENT

To: TERRENCE BAILEY, INTERIM PUBLIC WORKS DIRECTOR

Through: RICKEY LITTLE, INTERIM PROCUREMENT DIRECTOR RL

From: GLENDORA WILLIAMS, INTERIM SR. PROCUREMENT SPECIALIST XW

Date: JANUARY 25, 2019

Subject: RECOMMENDATION: ITB 963-19-1 CBDG PUBLIC INFRASTRUCTURE

IMPROVEMENTS PROJECTS

On December 11, 2018 an invitation to bid (ITB) was posted on the City web site; Palm Beach Post on December 10, 2018; and DemandStar on December 11, 2018 for CDBG Public Infrastructure Improvements Projects.

Rosso Site Development, Inc. provided a proposal in the amount of \$656,338.31 for Base Bid and \$1,440,921.84 for Bid Alternate 1 with a total proposal amount of \$2,097,260.15. The company was the lowest responsive and responsible bidder out of twelve (12) plan holders; with four (4) bidders from Palm Beach County and none from Riviera Beach. There will be thirty-nine (39) percent SBE participation in the amount of \$826,929.43 to be provided by Rosso Site Development, Inc.

The Public Works Interim Director, will be provided a copy of the quote which is included as an attachment to this recommendation letter.

Accordingly, the Procurement Department recommends that Rosso Site Development, Inc. be awarded the contract for CDBG Public Infrastructure Improvements Projects.

CC:

TERRENCE BAILEY, INTERIM PUBLIC WORKS DIRECTOR Procurement File

SUBMIT BID TO:

City of Riviera Beach Office of the City Clerk 600 W. Blue Heron Blvd., Suite 140 Riviera Beach, FL 33404 (561) 845-4090

CITY OF RIVIERA BEACH PALM BEACH, FLORIDA

INVITATION FOR BID

Bidder Acknowledgment

GENERAL CONDITIONS -

THESE INSTRUCTIONS ARE STANDARD FOR ALL CONTRACTS FOR COMMODITIES/SERVICES ISSUED BY THE CITY OF RIVIERA BEACH. THE CITY OF RIVIERA BEACH MAY DELETE, SUPERSEDE OR MODIFY ANY OF THESE STANDARD INSTRUCTIONS FOR A PARTICULAR CONTRACT BY INDICATING SUCH CHANGE IN THE SPECIAL INSTRUCTIONS TO BIDDERS OR IN THE BID SHEETS. BY ACCEPTANCE OF A PURCHASE ORDER ISSUED BY THE CITY, BIDDER AGREES THAT THE PROVISIONS INCLUDED WITHIN THIS INVITATION FOR BID SHALL PREVAIL OVER ANY CONFLICTING PROVISION WITHIN ANY STANDARD FORM CONTRACT OF THE BIDDER REGARDLESS OF ANY LANGUAGE IN BIDDER'S CONTRACT TO THE CONTRARY.

BIDDER ACKNOWLEDGEMENT MUST BE SIGNED AND RETURNED WITH YOUR BID

SEALED BIDS: This form must be executed and submitted with all bid sheets in a sealed envelope. (DO NOT INCLUDE MORE THAN ONE BID PER ENVELOPE). The face of the envelope shall contain the above address, the date and the time of bid opening, and bid number. Bids not submitted on attached bid form may be rejected. All bids are subjected to the conditions specified herein. Those which do not comply with these conditions are subject to rejection.

- 1. EXECUTION OF BID: Bid must contain an original signature of an individual authorized to bind the bidder. Bid must be typed or printed in ink. All corrections made by bidder to his bid must also be initialed. The bidder's name should also appear on each page of the bid sheet if required. Bids will not be accepted from firms in arrears to the City of Riviera Beach upon debt or contract nor from a defaulter upon obligations to the City of Riviera Beach. Bidder certifies by signing the bid that no principals or corporate officers of the firm were principals or corporate officers in any other firm which may have been suspended or debarred from doing business with the City within the last three years, unless so noted in the bid documents.
- 2. TIE BIDS: In case of tie bids, the award will be made in the following preference:

BIDDER WITHIN CITY LIMITS OF RIVIERA BEACH. BIDDER WITHIN PALM BEACH COUNTY. BIDDER WITHIN THE STATE OF FLORIDA.

- 3. NO BID: If not submitting a bid, respond by returning this Bidder Acknowledgement form, marking it "NO BID", no later than the stated bid opening date and hour, and explain the reason in the space provided. Failure to respond without justification may be cause for removal of the bidder's name from the bid mailing list.
- 4. BID WITHDRAWAL: No bidder may withdraw their bid before the expiration of ninety (90) calendar days from the date of bid opening.
- 5. BID OPENING: Shall be public, on date, location and time specified on the bid form. The official time is the time clock located in the City Clerk's Office and will be accepted by all parties without reservation. It is the bidder's responsibility to assure that the bid is delivered on date, location and time specified on the bid form. Bids, which for any reason are not so delivered, will not be considered. Bid files and any bids after they are opened are exempt from public examination until an intended decision is announced or until 30 days from the opening, whichever is earlier (Florida Statutes Section 119 071) may be examined during normal working hours by appointment. Bid tabulations are available for inspection upon request

NOTE: Except as required by Florida statues, bids are exempt from release for certain periods of time after bid opening.

BID WILL BE DUE and may not be withdrawn within 90 calendar days after such date and time. 01/10/2019 11:00 AM

BID TITLE: PUBLIC INFRASTRUCTURE IMPROVEMENTS

BID NO. 963-19-1

BUYER: Glendora Williams (561) 845-4180

DELIVERY DATE: 01/10/2019

SEE SPECIAL INSTRUCTION

CASH DISCOUNT TERMS

IF BID EXCEEDS \$100,000, BIDDER MUST PROVIDE BID BOND OR CASHIERS CHECK IN THE AMOUNT OF 5% OF BID OR BID

WILL BE REJECTED

104863.01

TOTAL BID AMOUNT: \$2097260.15

FEDERAL EMPLOYER I.D. or SOCIAL SECURITY NUMBER 45-4460836

DUN & BRADSTREET NUMBER

BIDDER NAME

Rosso Site Development, Inc.

BIDDER MAILING ADDRESS/CITY/STATE/ZIP

1302 S J Street

Lake Worth, FL 33460

TELEPHONE CONTACT PERSON AREA CODE

NO 561-689-0889 FAX NO

Joe Rosso III

INTERNET ADDRESS

561-689-2851

www.rossositedevelopment.con

AUTHORIZED SIGNATURE (original in ink)

Joseph A. Rosso III

VP

TYPED NAME OF SIGNER

TITLE

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm or person submitting a bid for the same items/services, and is in all respects fair and without collusion or fraud, I agree to abide by all conditions of this bid and certify that I am authorized to sign this bid for the bidder. Further by signature of this form, pages 1 through 4 are acknowledged and accepted as well as any special instruction sheet(s) if applicable

Rosso Site Development

City of Riviera Beach

CDBG FY 17-18 PUBLIC INFRASTRUCTURE IMPROVEMENTS

BID No. 963-19-1 (36th St and Ave N, Add Alt. 1 28th/30th at Ave O)

BASE BID 36th St and Ave N

Item No.	Description	Qua	intity	Unit Price	Total
			Unit	\$	\$
Overhead	ltems				
1	Mobilization	1	LS	\$65,633.83	\$65,633.83
2	Bonds and Insurance	1	LS	\$32,921,64	\$32,921.64
3	Maintenance of Traffic	1	LS	\$32,816.92	\$32,816.92
4	Erosion and Turbidity Control, NPDES Compliance	1	LS	\$747.50	\$747.50
5	Permit Fee (Reimbursement)	1	AL.	\$20,000,00	\$20,000.00
6	Professional Audio/Video of Construction Sito	1	LS	\$164.58	\$164.58
	SUBTOTAL OVERHEAD ITEMS:			\$	152,284.47
	ROADWAY			State (15, 120)	
7	Commercial Material for Driveway Maintenance	1	LS	\$985.73	\$985.73
8	Clearing and Grubbing (Including Existing Roadway Items)	1	LS	\$15,413.33	\$15,413.33
9	Removal of Existing Pavement (Driveways Outside R/W)	1	LS	\$698.25	\$698.25
10	Removal of Existing Structures and Pipes	1	LS	\$2,100.00	\$2,100.00
11	Relocation of Mailboxes	5	EA	\$26.67	\$133.35
12	Driveway Turnout (6" Concrete) (Inside RAV)	192	SY	\$63.47	\$12,186.24
13	Driveway Rebuild (6" Concrete) (Outside R/W)	308	SY	\$63.42	\$19,533.36
14	Driveway Rebuild (1" Asphalt) (Outside R/W)	0	SY	\$26.89	\$0.00
15	Driveway Rebuild (Exiting Pavers)	24	SY	\$38.78	\$930.72
16	Mill & Overlay w/ 1" Type S-III	220	SY	\$35.23	\$7,750.60
17	Mill & Overbuild w/ 0.75" cut & 1.5" Build Type S-III	2,881	SY	\$15.21	\$43,820.01
18	Base Repair or Overbuild Asphalt Pavement Section	273	SY	\$38.08	\$10,395.84
19	Concrete Speed Hump	0	EA	\$5,647.21	\$0.00
20	Concrete Curb and Gutter (Typo F)	0	LF	\$30.00	\$0.00
21	Concrete Curb (Type D)	0	LF	\$30.00	\$0.00
22	Concrete Pipe Culvert (12" Solid) (Include Trenching & Backfilling)	0	LF	\$89.25	\$0.00
23	Furnish and Install Curb Inlet and Grate	2	EA	\$4,830.00	\$9,660.00
24	Furnish and Install 60" Dlameter Manhole(Note reviesed from Plan sheet Rd-5)	1	EA	\$7,140.00	\$7,140.00
25	2' Concrete Valley Gutter	829	LF	\$23.95	\$19,854.55
26	4" Thick Concrete Sidewalk (Includes Curb Ramps and Thickened Edge For 4' Sidewalk)	482	SY	\$48.51	\$23,381.82
27	Detectable Warning Surface	6	SF	\$19.04	\$114.24
28	Sod (Match Existing) (Include Watering and Maintenance)	10	SY	\$96.85	\$968.50
	SUBTOTAL ROADWAY ITEMS	3	1000	\$ 175,066.54	k
	Pavement Marking and Signing	0.184	Zukoli.	110000	
29	Retro-Reflective Pavement Marker	1	LS	\$484.73	\$484.73
30	Thermoplastic Solid Stripe (12" White)	113	LF	\$3.10	\$350.30
31	Thermoplastic Solid Stripe (24" White)	33	LF	\$5.25	\$173.25
32	Thermoplastic Standard White Striping for Speed Hump per Detail	0	EA	\$1,050.00	\$0.00
33	Thermoplastic Solid Stripe (6" Double Yellow)	150	LF	\$1.68	\$252.00
	SUBTOTAL PAVEMENT MARKING AND SIGNING	3		\$ 1,260.28	

City of Riviera Beach

CDBG FY 17-18 PUBLIC INFRASTRUCTURE IMPROVEMENTS

BID No. 963-19-1 (36th St and Ave N, Add Alt. 1 28th/30th at Ave O)

BASE BID 36th St and Ave N

m No.	Description	Quantity		Unit Price	Total
	Water and Sewer (Utilities)				
34	Project Identification Sign	2	EA	\$525.00	\$1,050.00
35	Furnish and Install CIP Sewer Lining 8"	1,212	LF	\$36.75	\$44,541.00
36	6" PVC Water Main (Including Trenching & Backfilling)	1,472	LF	\$47.25	\$69,552.00
37	6" DIP Water Main Contingency (Include Trenching & Backfilling)	10	LF	\$89.25	\$892.50
38	Full Depth Restoration*	1,117	SY	\$49.42	\$55,202.14
39	Furnish and Install Pressure Main Fittings (6")	0.52	TN	\$15,750.00	\$8,190.00
40	Grout & Abadndon Existing WM (Include Plug)	1	LS	\$4,725.00	\$4,725.00
41	6" Plug	3	EA	\$577.50	\$1,732.50
42	4' DIA. Sanitary Sewer Manholes, F&I With Lid	1	EA	\$6,300.00	\$6,300.00
43	Adjust Existing Sanitary Manholes	1	LS	\$472.50	\$472.50
44	6" Gate Valve	4	EA	\$3,675.00	\$14,700.00
45	Furnish and Install 4"-6" Line Stops	6	EA	\$3,360.00	\$20,160.00
46	Sample Point (Include Testing)	3	EΛ	\$2,625.00	\$7,875.00
47	Fire Hydrant Assembly	1	EA	\$5,775.00	\$5,775.00
48	Connect to Existing Pipe	5	EA	\$3,675.00	\$18,375.00
49	1" Single PE Water Service with Meter Box (Include Trenching, Backfilling, Sidewalk Replacement)	18	EA	\$945.00	\$17,010.00
50	1" Single PE Water Service with Meter Box & Casing (Include Trenching, Backfilling, Sidewalk Replacement)	19	EA	\$1,575.00	\$29,925.00
51	1 1/2" Double PE Water Service with Meter Box (Include Trenching, Backfilling, Sidewalk Replacement)	1	EA	\$2,100.00	\$2,100.00
52	2" Double PE Water Service with Meter Box (Include Trenching, Backfilling, Sidewalk Replacement)	2	EΛ	\$2,100.00	\$4,200.00
53	Record Drawings (As Builts)	1	LS	\$1,089.38	\$1,089.38
	SUBTOTAL WATER AND SEWER UTILITIES	VII6.11 (1166-1-1166)		\$ 313,867.02	2
	Miscellaneous			661960	
54	8" VCP Sewer Repair (Includes Excevation, Trenching, Backfill, and Payment Restoration)	100	LF	\$63.00	\$6,300.00
55	Adjust Water Valves	3	EA	\$315.00	\$945.00
56	Adjust Existing Utility Fixtures (Incl Meter Boxes and Valve Boxes)	5	EA	\$183.75	\$918.75
57	Replace Existing Utility Fixtures (Incl Meter Boxes and Valve Boxes)	5	EA	\$367.50	\$1,837.50
58	Flowable Fill	35	CY	\$110.25	\$3,858.75
	SUBTOTAL MISCELLANEOUS				\$ 13,860.00
	TOTAL BASE BID		\$ 656,338.31		
	TOTAL ALT 1 BID		\$ 1,440,921.84		
	TOTAL PROJECT BID		\$2,097,260.15		
	* Full depth restoration includes 12" Sub-grade (LBR 40), 8" baserock (LBR 100			h laward EUOU	uem.

City of Riviera Beach

CDBG FY 17-18 PUBLIC INFRASTRUCTURE IMPROVEMENTS

BID No. 963-19-1 (36th St and Ave N, Add Alt. 1 28th/30th at Ave O)

ALTRENATE 1 BID 28th and 30th at Avenue O

m No.	Description	Qua	ntity	Unit Price	Total
			Unit	\$	\$
verhead	Items				
1	Mobilization	1	LS	\$144,092.18	\$144,092.18
2	Bonds and Insurance	1	LS	\$61,505.31	\$61,505.31
3	Maintenance of Traffic	1	LS	\$72,046.09	\$72,046.09
4	Eroslon and Turbidity Control, NPDES Compliance	1	LS	\$747.50	\$747.50
5	Permit Fee (ReImbursement)	1	AL	\$35,000.00	\$35,000.0
6	Professional Audio∕Video of Construction Site	1	LS	\$164.58	\$164.58
	SUBTOTAL OVERHEAD ITI	EMS:		\$	313,555.66
Qualities.	ROADWAY	Ballette of		(virus) est	al si seasin il
7	Commercial Material for Driveway Maintenance	1	LS	\$3,363.53	\$3,363.53
8	Clearing and Grubbing (Including Existing Roadway Items)	1	LS	\$25,417.91	\$25,417.91
9	Removal of Existing Pavement (Driveways Outside R/W)	1	LS	\$2,477.36	\$2,477.36
10	Removal of Existing Structures and Pipes	1	LS	\$1,050.00	\$1,050.00
11	Relocation of Mailboxes	10	EA	\$26.67	\$266.70
12	Driveway Turnout (6" Concrete) (Inside RW)	793	SY	\$51.52	\$40,855.36
13	Driveway Rebuild (6" Concrete) (Outside R/W)	786	SY	\$51.56	\$40,526.16
14	Driveway Rebuild (1" Asphall) (Outside RM)	100	SY	\$26.89	\$2,689.00
15	Driveway Rebuild (Exiling Pavers)	0	SY	\$38.78	\$0.00
16	Mill & Overlay w/ 1" Type S-III	8,630	SY	\$10.34	\$89,234.20
17	Mill & Overbuild w/ 0.75" cut & 1.5" Build Type S-III	0	SY	\$15.21	\$0.00
18	Base Repair or Overbuild Asphalt Pavement Section	2,682	SY	\$22.46	\$60,237.72
19	Concrete Speed Hump	1	EA	\$5,647.21	\$5,647.21
20	Concrete Curb and Gulter (Type F)	0	LF	\$30.00	\$0.00
21	Concrete Curb (Type D)	0	LF	\$30.00	\$0.00
22	Concrete Pipe Culvert (12" Solid) (Include Trenching & Backfilling)	0	LF	\$89.25	\$0.00
23	Furnish and Install Curb Inlet and Grate	0	EA	\$4,830.00	\$0.00
24	Furnish and Install 60* Diameter Manhole(Note reviesed from Plan sheet Rd-5)	0	EA	\$7,140.00	\$0.00
25	2' Concrete Valley Gutter	1,081	LF	\$22.56	\$24,387.36
26	4" Thick Concrete Sidewalk (Includes Curb Ramps and Thickened Edge For 4' Sidewalk)	639	SY	\$44.51	\$28,441.89
27	Detectable Warning Surface	17	SF	\$19.04	\$323.68
28	Sed (Match Existing) (Include Watering and Maintenance)	51	SY	\$24.63	\$1,256.13
	SUBTOTAL ROADWAY I	TEMS		\$ 326,174.21	
	Pavement Marking and Signing				
29	Retro-Reflective Pavement Marker	1	LS	\$630.00	\$630.00
30	Thermoplastic Solid Stripe (12" White)	170	LF	\$3.10	\$527.00
31	Thermoplastic Solid Stripe (24" White)	153	LF	\$5.25	\$803.25
32	Thermoplastic Standard White Striping for Speed Hump per Detail	1	EA	\$1,050.00	\$1,050.00
33	Thermoplastic Solid Stripe (6" Double Yellow)	549	LF	\$1.68	\$922.32

City of Riviera Beach

CDBG FY 17-18 PUBLIC INFRASTRUCTURE IMPROVEMENTS

BID No. 963-19-1 (36th St and Ave N, Add Alt. 1 28th/30th at Ave O)

ALTRENATE 1 BID 28th and 30th at Avenue O

No.	Description	- Qua	ntity	Unit Price	Total
	Water and Sewer (Utilities)				
34	Project Identification Sign	4	EA	\$525.00	\$2,100.00
35	Furnish and Install CIP Sewer Lining 8"	2,545	LF	\$36.75	\$93,528.75
35a	Furnish and Install CIP Sewer Lining 10*	953	LF	\$37.80	\$36,023.40
35b	Furnish and Install CIP Sewer Lining 12"	285	LF	\$38.85	\$11,072.25
36	6" PVC Water Main (Including Trenching & Backfilling)	3,616	LF	\$46.20	\$167,059.20
37	6" DIP Water Main Contingency (Include Trenching & Backfilling)	30	LF	\$89.25	\$2,677.50
38	Full Dapth Restoration*	2,734	SY	\$42.88	\$117,233.92
39	Furnish and Install Pressure Main Fittings (6")	1.03	TN	\$15,750.00	\$16,222.50
40	Grout & Abadındon Existing WM (Include Plug)	1	LS	\$12,600.00	\$12,600.00
41	6" Plug	6	EA	\$577.50	\$3,465.00
42	4' DIA, Sanitary Sewer Manholes, F&I With Lid	1	EA	\$6,300.00	\$6,300.00
43	Adjust Existing Sanitary Manholes	1	LS	\$472.50	\$472.50
44	6" Gate Valve	10	EΛ	\$3,675.00	\$36,750.00
45	Furnish and Install 4*-6" Line Stops	12	EA	\$3,360.00	\$40,320.00
46	Sample Point (Include Testing)	8	EA	\$2,100.00	\$16,800.00
47	Fire Hydrant Assembly	5	EA	\$5,775.00	\$28,875.00
48	Connect to Existing Pipe	10	EA	\$3,675.00	\$36,750.00
49	1" Single PE Water Service with Meter Box (Include Trenching, Backfilling, Sidewalk Replacement)	34	EA	\$945.00	\$32,130.00
50	1" Single PE Water Service with Meter Box & Casing (Include Trenching, Backfilling, Sidewalk	36	EA	\$1,575.00	\$56,700.00
51	Replacement) 1 1/2" Double PE Water Service with Meter Box (Include Trenching, Backfilling, Sidewalk Replacement)	3	EA	\$2,100.00	\$6,300.00
52	2" Double PE Water Service with Meter Box (Include Trenching, Backfilling, Sidewalk Replacement)	3	EA	\$2,100.00	\$6,300.00
53	Record Drawings (As Bullts)	1	LS	\$1,089.38	\$1,089.38
	SUBTOTAL WATER AND SEWER UTILITIES			\$ 730,769.40	
	Miscellaneous				
54	Regular Excavation	100	CY	\$21.00	\$2,100.00
55	Embankment (Compacted In Place)	100	CY	\$21.00	\$2,100.00
56	Relocate Existing Utility Pole	5	EA	\$2,625.00	.\$13,125.00
57	Replace Existing Chain Link Fence Up to 6' in Height	200	LF	\$31.50	\$6,300.00
58	Relocate Palm Tree	10	EA	\$262.50	\$2,625.00
59	Reloacte Canopy Tree	10	EA	\$472.50	\$4,725.00
60	Construct 2' Retaining Wall(Above Existing Grade)	100	LF	\$126.25	\$12,625.00
61	8" VCP Sewer Repair (Includes Excevation, Trenching, Backfill, and Payment Restoration)	150	LF	\$63.00	\$9,450.00
62	Adjust Water Valves	10	EA	\$315.00	\$3,150.00
63	Adjust Existing Utility Fixtures (Incl Meter Boxes and Valve Boxes)	15	EA	\$183.75	\$2,756.25
64	Replace Existing Utility Fixtures (Incl Meter Boxes and Valve Boxes)	10	EA	\$367.50	\$3,675.00
65	Flowable Fill	35	CY	\$110.25	\$3,858.75
	SUBTOTAL MISCELLANEOUS	;		\$ 66,490.00	
	TOTAL ALT 1 BID)		\$1,440,921.8	34

SCHEDULE 1

1								
PARTICIPATION FOR SBE CONTRACTORS/PROPOSERS								
BID/RFP TITLE: Public Infrastructure Improvements	BID NUMBER: 963-19-1							
NAME OF PRIME BIDDER: Rosso Site Development, Inc.	BID OPENING DATE: 1-18-2019							
CONTACT PERSON: Blair R Simpson TELEPHONE NO. 561-689	-0889 DEPARTMENT: estimating							
CONTRACT AMOUNT – SBE								
NAME, ADDRESS & TELEPHONE NUMBER OF SBE CONTRACTOR 1. Rosso Site Development, Inc. See schedule 2	RMED CERTIFICATION							
1302 S J Street, Lake Worth, FL 33460 Ph: 561-689-0889 2.	PALM BEACH COUNTYSTATEOTHER							
3.	PALM BEACH COUNTYSTATEOTHER							
4.	PALM BEACH COUNTYSTATEOTHER							
5.	PALM BEACH COUNTYSTATEOTHER							
TO BE COMPLETED BY PRIME BIDDER: BID/RFP PRICE: \$2,097,260.15 TOTAL % PARTICIPATION: 39%								

Palm Beach County Office of Small Business Assistance

Certifies That

Rosso Site Development, Inc.

Vendor # VC0000140310

is a Small Business Enterprise as prescribed by section 2-80.21 – 2-80.35 of the Palm Beach County Code from January 22, 2019 to January 21, 2022

The following Services and/or Products are covered under this certification:

Clearing and Grubbing Services; Construction, General: Backfill Services, Digging, Ditching, Road Grading, Rock Stabilization, etc.; Excavation Services; Construction, Curb and Gutter, Including Maintenance, Repair, and Removal Services; Construction, Sidewalk and Driveway, Including Pedestrian and Handicap Ramps; Maintenance and Repair: Airport Roadway, Runway and Taxiway; Maintenance and Repair, Sidewalk and Driveway, Including Removal; Paving and Resurfacing, Alley and Parking Lot; Paving and Resurfacing, Streets, Major and Residential

Palm Beach County Board of County Commissioners

Paulette Burdick, Mayor
Melissa McKinlay, Vice Mayor
Hal Valeche
Dave Kerner
Steven L. Abrams
Mary Lou Berger
Mack Bernard

County Administrator Verdenia C. Baker

Allen F. Gray, Manager

October 30, 2018



STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CONSTRUCTION INDUSTRY LICENSING BOARD

THE GENERAL CONTRACTOR HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPTER 489, FLORIDA STATUTES

ROSSO, JOSEPH ANTHONY III

ROSSO SITE DEVELOPMENT, INC. 1302 S J STREET LAKE WORTH FL 33460

LICENSE NUMBER: CGC1520819

EXPIRATION DATE: AUGUST 31, 2020

Always verify licenses online at MyFloridaLicense.com



Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.



STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CONSTRUCTION INDUSTRY LICENSING BOARD

THE UNDERGROUND UTILITY & EXCAVATION CO HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPTER 489, FLORIDA STATUTES

ROSSO, JOSEPH ANTHONY III

ROSSO SITE DEVELOPMENT, INC. 1302 S J STREET LAKE WORTH FL 33460

LICENSE NUMBER: CUC1225470

EXPIRATION DATE: AUGUST 31, 2020

Always verify licenses online at MyFloridaLicense.com



Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.



RICK SCOTT, GOVERNOR



STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CONSTRUCTION INDUSTRY LICENSING BOARD

THE UNDERGROUND UTILITY & EXCAVATION CO HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPTER 489, FLORIDA STATUTES

ROSSO, JOSEPH ANTHONY II

ROSSO SITE DEVELOPMENT, INC. 1302 SOUTH J STREET LAKE WORTH FL 33460

LICENSE NUMBER: CUC1225294

EXPIRATION DATE: AUGUST 31, 2020

Always verify licenses online at MyFloridaLicense.com



Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.



Construction Industry Licensing Board of Palm Beach County

Planning, Zoning & Building Department Contractors Certification Division 2300 N. Jog Road, 2nd Floor, Suite 2W-61 West Palm Beach, FL 33411

JOSEPH A ROSSO II 1302 S J ST LAKE WORTH, FL 33460

Congratulations on obtaining your PAVING COMMERCIAL Certificate and for applying for certification in Palm Beach County. With this Certificate of Competency, you become or continue to be one of thousands of Floridians certified by the Construction Industry Licensing Board (CILB) of Palm Beach County. Our Construction certificates range from General, Building, and Residential to Specialty trades unique to our County. The following is proof of your Certificate of Competency along with your scope of work.

Edward Lynch, Chair

Construction Industry Licensing Board of Palm Beach County

Oscar Alvarez, Director

License Number

Type of Competency Certification

U-16114

PAVING COMMERCIAL

Named below is a Certified Contractor as outlined in the Standards to perform under the provisions of Special Act Chapter 67-1876, Laws of Florida as amended and as mandated by State Statute.



NAME: JOSEPH A ROSSO II

FIRM : ROSSO SITE DEVELOPMENT INC

DBA

1302 S J ST

LAKE WORTH, FL 33460

Expiration date:

09/30/2019

Issued: 08/16/2017

<u>PAVING COMMERCIAL</u> contractor are those who are qualified with the experience and skill to construct roads, airport runways and aprons, parking lots, sidewalks, curbs and gutters, property line walls, storm drainage facilities, paver brick/paver brick systems and to perform the excavating, clearing and grading incidental thereto

Page 2 of 2 Print Date: 8/17/2017 10:16:38AN